
 

 

கல்விப் பணியில் 28 ஆண்டுகள் ததொடர்ந்து சொதனை 

ROY ACADEMY 

CHENNAI / TIRUNELVELI - 7200363126 

MATHS TEST 1 (SOLUTIONS) 

1. Find the value of 𝑥   

 √(189 − 𝑥)  = √(178 − √81)  

 (a) 20       (b)   27 

 (c)   38       (d) 49 

SOLUTIONS 

189-x=178-9 

x=189-169=20 

 

2. Simplify 

 √(157 − √182 − √156 + √169) 

 (a) 11       (b)    12 

 (c)   14       (d)   13 

SOLUTIONS 



 

 

√157 − √(182 − √(156 + 13)) 

√157 − √182 − 13 

√157 − √169 

√157 − 13 

√144 = 12 

 

3. Simplify 

 {24 ÷ 8}4  +√(135 − √196)    

 (a) 42       (b)    37 

 (c)   27       (d)   13 

SOLUTIONS 

[
16

8
]

4
+√135 − 14 

16+11=27 

 

 

 

4. Simplify 



 

 

 11 x 132 ÷ 12 + 11 

         108 ÷ 9-1   

 (a) 14       (b)    13 

 (c)   12       (d)   11 

SOLUTIONS 

11 × 132
12

+ 11

108
9

− 1
 

11 × 11 + 11

12 − 1
 

132

11
 = 12 

 

5) Simplify 

 48 - [ 15 + {38 - (28-7]}] 

 (a) 19       (b)    18 

 (c)   16       (d)   17 

SOLUTIONS 

48-[15 + 17] 

48-32=16 

 

 

6) Simplify 



 

 

 79 - (23 - {84 ÷ 7 −(16 - 4 )  4 )}]  

 (a) 61       (b)    63 

 (c)   67       (d)   65 

 

SOLUTIONS 

79-[23 − 9] 

79-14 = 65 

 

7) Simplify 

 49 - [16 + {39 - (29 - 7 )}] 

 (a) 17       (b)    19 

 (c)   18       (d)   16 

SOLUTIONS 

49-[16 + 17] 

49-33 = 16 

 

8) Simplify 

 √(343 − √(380 − √(343 + √324))) 

 (a) 12       (b)    21 

 (c)   38       (d)   18 

 



 

 

SOLUTIONS 

√343 − √380 − √343 + 18 

√343 − √380 − 19 

√343 − √361 

√343 − 19 = 18 

 

9) 𝐹𝑖𝑛𝑑 the value of 𝑥 

 √(157 − 𝑥)  =  √(155 − √121) 

 (a) 13       (b)    16 

 (c)   17       (d)   14 

SOLUTIONS 

157-x=155-11 

157-x=144 

X=157-144 = 13 

 

 

 

 



 

 

10) Simplify 

 √20.25 + √75.69 + 8.7 

 (a) 21.5       (b)    21.7 

 (c)   21.9       (d)   21.3 

SOLUTIONS 

4.5+8.7+8.7=21.9 

 

11) 𝐹𝑖𝑛𝑑 the value of 𝑥 

 √361   19 +  √400   = 1 × 𝑥 

 (a) 24       (b)    22 

 (c)   23       (d)   21 

19

19
+ 20 = 𝑥 

X = 21 

 

12) Simplify 

 486 ÷  {
3

4
[

16

15
] −

2

3
} 

 (a) 3654       (b)    3645 

 (c)   3456       (d)   3465 

SOLUTIONS 

486÷ {
4

5
−

2

3
} 



 

 

486÷ {
12−10

15
} 

486÷
2

15
 = 486×

15

2
 

243× 15 = 3645 

 

13)  Simplify 

 √21.16   + √79.21  + 8.9 

 (a) 22.6       (b)    22.4 

 (c)   22.2       (d)   22.8 

SOLUTIONS 

4.6+8.9+8.9=22.4 

 

14) Simplify 

 √16.81   + √67.24    2 

 (a) 8.4       (b)    8 

 (c)   8.2       (d)   8.1 

SOLUTIONS 

4.1+8.2÷ 2 

4.1+4.1=8.2 

 

15) Simplify 

 5 ÷ 5−2+ √25 - √121 



 

 

 (a) 143       (b)    132 

 (c)   121       (d)   119 

SOLUTIONS 

5 ÷
1

52
+5-11 

5 × 52 − 6 

125-6=119 

 

16) Simplify 

 6  6-2  + √36 - √144 

 (a) 240       (b)    230 

 (c)   220       (d)   210 

SOLUTIONS 

6 ÷
1

62
+ 6 − 12 

6 × 62 − 6 

216-6=210 

 

 

 



 

 

17) 𝐹𝑖𝑛𝑑 the value of 𝑥 

 √169   13 + √196  = 3 × 𝑥 

 (a) 2       (b)    3 

 (c)   4       (d)   5 

SOLUTIONS 

13 ÷ 13 + 14 = 3𝑥 

𝑥 = 5 

 

18) 𝐹𝑖𝑛𝑑 the value of 𝑥 

 √144   21 + √484  = 1 × 𝑥 

 (a) 26       (b)    25 

 (c)   23       (d)   24 

SOLUTIONS 

21 ÷ 21 + 22 = 𝑥 

𝑥 = 23 

 

19) 𝐹𝑖𝑛𝑑 the value of 𝑥 

 √(555 − 𝑥)  =  √(38 − √(169)   

 (a) 530       (b)    756 

 (c)   625       (d)   621 

SOLUTIONS 



 

 

√(555 − 𝑥) =  √(38 − 13) 

555 − 𝑥 = 25; 𝑥 = 530 

 

20) Simplify 

 250 - [90-(120  10 - (30-60  3) ÷10)] 

 (a) 143       (b)    171 

 (c)   134       (d)   166 

SOLUTIONS 

250 − [90 − (12 − (30 − 20) ÷ 10)] 

250 − [90 − 11] 

250-79 = 171 

 

21) 𝐹𝑖𝑛𝑑 the value of 𝑥 

 √121  11 + √144  = 1 × 𝑥 

 (a) 16       (b)  14 

 (c)   13       (d)  15 

SOLUTIONS 

11 ÷ 11 + 12 = 𝑥 

11÷ 11 + 12 = 𝑥 

𝑥 = 13 



 

 

 

22)  Simplify 

 √(159 − √(244 − √(375 − √196)) 

 (a) 14       (b)    16 

 (c)   13       (d)   12 

SOLUTIONS 

√(159 − √(244 − √375 − 14)) 

√(159 − √(244 − √361)) 

√(159 − √244 − 19) 

√(159 − √225) 

√(159 − 15) 

√144 = 12 

 

23) Simplify 

 (21 × 8 × 21 × 16 )  (2(√64 ÷ 2))
2
 

 (a) 441       (b)    484 

 (c)   144       (d)   324 



 

 

SOLUTIONS 

(21 × 8 × 21 × 16) ÷ 4 × 32 

21 × 21 = 441 

 

24)   𝐹𝑖𝑛𝑑 the value of 𝑥 

 √(140 − 𝑥) =  √(12 + √169) 

 (a) 245       (b)    425 

 (c)   115       (d)   135 

SOLUTIONS 

√(140 − 𝑥) = √(12 + 13) 

√(140 − 𝑥) =  √25 

(140 − 𝑥) = 25 

𝑥 = 115 

 

25) Simplify: 

 (38 × 33 × 38 × 33 )  (2(√1089 ÷ 2)
2

) 

 (a) 1444       (b)    5444 

 (c)   1222       (d)   2444 

SOLUTIONS 

38 × 33 × 38 × 33 ÷ 2 ×
1089

2
 



 

 

38 × 33 × 38 × 33

1089
 

1444 

 

26) Simplify: 

 √(694 − √(337 − √(191 − √484))) 

 (a) 29       (b)    25 

 (c)   24       (d)   26 

SOLUTIONS 

√694 − √337 − √191 − 22 

√694 − √337 − √169 

√694 − √337 − 13 

√694 − √324 

√694 − 18 

√676=26 

 

 



 

 

27)  𝐹𝑖𝑛𝑑 the value of 𝑥 

 √(430 − 𝑥)  =  √(86 − √25) 

 (a) 729       (b)  372 

 (c)   298       (d)  349 

SOLUTIONS 

430 − 𝑥 = 86 − 5 

430 − 𝑥 = 81 

𝑥 = 430 − 81 

𝑥 = 349 

 

28) Simplify: 

 468   { 
3

4
 [

16

15
 ] - 

2

3
 } 

(a) 3150       (b)  5310 

 (c)   5130       (d) 3510 

SOLUTIONS 

468 ÷ {
4

5
−

2

3
} 

468 ÷
12 − 10

15
 

468 ×
15

2
 =3510 

 

 



 

 

29) 𝐹𝑖𝑛𝑑 the value of 𝑥 

 √361  19 + √400  = 1 × 𝑥 

 (a) 24       (b)  22 

 (c)   21       (d)  23 

SOLUTIONS 

19

19
+ 20 = 1 × 𝑥 

1 + 20 = 𝑥 

𝑥 = 21 

 

30) Simplify 

 √(140 − √(368 − √(37 + √144) ) 

 (a) 13       (b)    14 

 (c)   11       (d)   12 

SOLUTIONS 

√(140 − √(368 − √(37 + 12))) 

√(140 − √(368 − √49)) 

√140 − √368 − 7 



 

 

√140 − 19 

√121 = 11 
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